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Why is, ‘in the hand of a judge’, different — 97 7% RIWw ONR

OVERVIEW

The Xn»M2 taught that a 231 VW which was 17 7% %91 should never be
‘brought out’ and presented to the mn. The &3 asked 7 7% w"n. There
seems to have been two NMXo7 in the answer to this question of 17 7% w"n.
One &0 (which is our X07°3) is that the ¥27 begins by explaining that 953
17 7°% means that it had a P9177 (and then X217 continues with the answer of X
TnRP X°v2°n). Another X07°) begins immediately with &°¥2°1 X% and does not
explain what 17 7% %91 means. M0 explains the question (and answer)
according to each of these two MX07a.

— 15930 7152 23057 19 ST 5350 NIYA YD1 03990
According to the texts that insert in the answer (to this question) the

phrase, ‘and we are discussing a case that a ps177 was written in the "wv’,

we can therefore assume that (according to this &07°)) the X723-
—INSM PP2TAY 139917 920 NIN P97 139907 197 19D Y971 Y19 XD NNWN

Now in the question (of 77 7% w"n) did not know that '1>>7 7°% %21' means
that the 7vw has a pp377, but rather the X123 assumed that '1>7 7°% 791" simply

means that the 37 found it -
— 9NN YINI 1997 NIV N1 ’ya ‘[951

And therefore the X7 asks ‘why a 37 is different from another

person.’ The ruling should be the same regardless of who found it.
— P3N 1153 2INDT 1N 90T 9551 Y9N 9N YD) YT DII90D

However according to the texts that do not insert later (in the answer) the
phrase of 'P5177 17152 23027 132 M7 9291, according to this X073, the X773 -

— PDIT 12 2INDW T IOT TV HDIT RNWT DY YT
Indeed knew already now that '»7 7% 51' means that a poi7 was

written in the 7vw, and nevertheless, the X 13 -
— YIYY NN NIT D93 12 2N NIW IN 1199 NI

Asks why should there be different ruling that if a P27 is written in the

oY, then the "vw should never be presented and if there is no 5177 there should
be a different ruling, this is not logical -

A 79177 (sometimes called a1p) is an authentication of the 7vw by 7""2, which issues this 2377 (on the W)
when it verifies the signatures of the o>7v. It is understood that if there is a P237 on the vw, that the 71
received the 0w from the m?, for it is the mM%n who is o»pn the qvw (it serves only his interest) and not the
Y (see 2,5 1P7). The mon would have received the 70w from the 772 (who writes it) only if he lent him the
money. See ('R77) 7"2 AWy 93 7"7 2,70 "W and 1 7" 2,77 MOOIN.
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For if there is no ?2177 in the "vw it seems obvious that it should certainly

never be presented and offered to the m>n!
= MY N9 MYY An5 NNY 999195 NIINT

For we should be concerned that perhaps the M™% wrote the 70w with the
intention of borrowing, but he never actually borrowed.

$9NND NOPI KT 193w
And the X3 answered (according to both *nXo73) that the phrase 75 991
77 means that even if 17 75 %01 and certainly if P>7 7°% 991 X7, that PR R XY,

SUMMARY

If we are PD177 17°2 2027 1A M7 °2° 0 then the 7wpn thought that 17 795 993
1s to be taken literally and the question w'"» is why is a 77 different, and the
answer is that 17 7% %91 means there is a p237. However if we are not 073
the 121 °1n7 °2°7, then the X3 assumed initially that 1°7 7°2 991 means it had a
7917, but the question was that seemingly without a 2517 it should certainly
not be returned since there is the concern of M7 891 M%% 2n>. The answer is
that 8P X2 XY,

THINKING IT OVER

According to the 0190 that are not 0713 the 121 7", the question then is why
does the Xn»2 rule that nm2w e X% (only) when there is a poan,
seemingly when there is no 517 then we surely do not return it for we have
the additional concern of m? &?1 M55 an>. Why does not the X3 answer that
the reason the Xn>72 is discussing the case where there is a 517, because it
is only in this case where *01° "1 argues since he is 1Ww7°9% w>n &2, however in
a case where there is no po17, then *"1 would agree that N9y XX XY, since
there is the concern of m> &2 M an>?!*

2 It would seem that the XO" is 197 R*V2R XY TRP °377 827 MR (and the words from “nRY until N7’ are
omitted).

? See (however) W'"n XM 71" X132 SR> b

* See »2x XA,
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